Questions regarding the presentation “Target Reserve Margin and Effective Load Carrying Capability of Installed Wind Capacity for the ERCOT System – Methodology and Results” by ERCOT Planning, 10/20/2010

1. Please confirm ERCOT did not need to add additional generic generation capacity to the total generation resources in order to determine the target reserve margin needed to support a given LOLEV level?  If not, what type of generation capacity was added and what assumptions where made with regard to its characteristics (such as capacity type, capacity per unit, EFORd, seasonal multipliers, planned outage schedule)?  
2. Please provide the hourly load scenarios used in developing the target reserve margin and ELCC analysis. 
3. Why was load modeled as five discrete scenarios rather than a full distribution, as was done with generation outages?  Does ERCOT believe that its most extreme high load case sufficiently describes the set of extreme load conditions necessary to calculate the reserve margin needed to achieve a 1-in-10 year LOLEV standard?

4. Please provide the average forced outage estimates used in model based off NERC GADS data.  For generation units, for which the NERC GADS data was not provided, please provide the assumptions made for forced outage estimates. 
5. Please describe in detail the calculations performed to generate the results shown on slide 12 of the results presentation.  That is, what calculations did ERCOT perform to transform the individual load scenarios into a single estimate of target reserve margin needed to support a given LOLEV value?

6. Please describe the process by which the target reserve margin was adjusted until an LOLEV of 0.1 per year was attained. 

7. What weather assumption was used in the five load scenarios?  Did the seasonal  capacity ratings vary with the load scenario?  
8. Is there any correlation or other relationship between the wind output scenarios and the load scenarios?  That is, is there any recognition that high load/temperature scenarios tend to have lesser wind output, all else equal?

9. What load scenario or combination of scenarios was used in developing the ELCC for wind generation?  If multiple scenarios were used, please describe how the scenarios were aggregated to form a single ELCC estimate.

10. Why were forced outages for wind generation not considered in developing the wind ELCC estimate?

11. What time frame was used for the aggregation of the wind generation profiles?  Which scenario(s) of the “family of hourly chronological load patterns” does this time frame correspond to?
12. Was Load Acting as a Resource (LaaRs) or any other demand response resources considered in any fashion in developing the target reserve margin?  If demand resources were considered were they assigned a forced outage rate?
13. Why were hydroelectric resources not considered in developing the target reserve margin? Why were the DC ties not considered?
14. Does ERCOT believe that consideration of the transmission network would materially alter its estimate of wind ELCC or required target reserve margin?

